DO NOT SCALE

B & O & ®

- (&
%‘é/

|-

B\

jﬁﬁ
o

\ &R
N

[

(SEE DRAWING CCMO01-A FOR PLAN VIEW)

WELD AT F & //////

CCMO001 |SIDE ELEVATION B

No. Description CHK |AP'DDATE
REVISIONS
Practical TITLE  CROWN CAP DRAWN |TRACE |CHK @‘EL NOT TO
Action MACHINE AR - - SCALE

www.practicalactionorg

Infoserve@practicalaction.orguk D I M E N S I D N S I N M M D R A \A/ I N G N O. C C M O O 1




DO NOT SCALE

O
Do
5 = Q/ ( N
_
0D K \ U
D
O O
(SEE CCMO001 FOR SIDE ELEVATIOND
Praoctical TITLE CROWN CAP DRAWN |TRACE |CHK i// — 1 [NOT T0O
CCM001d Plan View Action MACHINE AR | - - & |scaLe
No. Description CHK |AP/D|DATE] mrrcerrosiamonorguk DIMENSIONS IN MM DRAWING No. CCM00la
REVISIONS




18[SPLIT PIN 3 DIA3 x 20
17 |WASHER 6 TO SUIT MI10 SCREW
16 [NUT 1 M10
15 |HEX BOLT 2 M10 X 50
14[HEX BOLT 1 M10 X 40
13 [HEX BOLT 1 M10 X 20
12| SPRING 1 DIA 20 - 1 X 76 LONG
11 |HANDLE CCM111 1 |HARD wOOD | DIARS x 140
10[LEVER CCM110 1 [MILD STEEL |DIA20 x 250 WELD TO ITEM 9
9 [HOLDER CCM109 | 1 |MILD STEEL [158.1 x 532 x 25
8|CAP HOLDER CCM108 | 1 [MILD STEEL |DIA42 x 38
7 |STOP - FOR SHAFT CCM107 | 1 |MILD STEEL |DIA28 x 12 WELD TO ITEM 6
6[SHAFT CCM106 [ 1 [MILD STEEL [DIA20 x 305
5 |BUSH CCM10S | 2 |MILD STEEL |DIA32 x 25 WELD TO ITEM 4
4 |BRACKET CCM104 | 1 |MILD STEEL [114 x 192 x S
3 |BUSH - FOR HEIGHT ADJCCM103 | 1 |MILD STEEL |DIA45 x 38 WELD TO ITEM 4
2| COLUMN CCM102 | 1 |MILD STEEL |DIA32 x 460 WELD TO ITEM 1
1 [BASE PLATE CCM101 1 [MILD STEEL [305 x 200 x S
ITEM|DESCRIPTION PAGE NO|QTY | MATERIAL COMMENTS CHD
PARTS
LIST
Practical TITLE  CROWN CAP DRAWN |TRACE |CHK @‘EL NOT TO
Action MACHINE AR - - SCALE

www.practicalactionorg
Infoserve@practicalaction.orguk

DRAWING No. CCMO0O1




NOT TO SCALE — DO NOT SCALE

.0 305
R A _ _ _ _ A
N N
o o w
m m QU]
U _ T ) _ _ _ _ )
.\ \ o
QU]
4 HOLES DRILL 28
DIA 10.5 THRO !
58 226
TOLERANCES
UNLESS OTHERWIS @ BASE PLATE - MILD STEEL - 1 OFF
STATED +/_ 0.25
Practical TITLE CROWN CORK  [DRAWN|TRACE |CHK |[/A&A ——1 NOT TO
A ction MACHINE AR - - [\ T/ |scaLE
No. Description CHK |AP’D [DATE] prveracticaactioners DIMENSIONS IN MM DRAWING No., CCM201
REVISIONS




32

CHAMFER 05 x 495

NOT TO SCALE — DO NOT SCALE

460

N\

TOLERANCES

UNLESS OTHERWIS

STATED +/_ 0.25

NOTE—- USE MILD STEEL or GLAVANISED

PIPE WITH MIN WALL THICKNESS 2Pmm

AHHV COLUMN - MILD STEEL - 1 OFF

Practical

Action

No.

Description CHK

AP’D

”_u D |_| m www.procticalactionorg

Infoserve@practicalaction.orguk

REVISIONS

TITLE CROWN CAP DRAWN [TRACE [CHK |,/ ——1 |NOT TO
MACHINE AR | - - W T/T|scALE
DIMENSIONS IN MM DRAWING No. CCM201




NOT TO SCALE — DO NOT SCALE

38
LQ%Q/
CHAMFER 05 x 45
Q@m
~
1 HOLE
DRILL DIA 8,5
TAP MI0 X 15 THRO
19
TOLERANCES
UNLESS OTHERWIS AHHV BUSH FOR HEIGHT ADJUSTMENT - MILD
STATED +/_ 0.25 STEEL - 1 OFF
Practical TITLE  CROWN CAP DRAWN [TRACE |CHK [/ —1 NOT TO
Action MACHINE AR | - - [T/ |scALE
No. Description CHK AP DA T e mergu DIMENSIONS IN MM DRAWING No. CCM203
REVISIONS




NOT TO SCALE — DO NOT SCALE

< <
O 4
Ip]
- gt N
I}
QU]
25 1 HOLE DRILL DIA 10 THRO
102
TOLERANCES
UNLESS OTHERWIS @ BRACKET - MILD STEEL - 1 OFF
STATED +/_ 0.25
Proctical TITLE CROWN CAP DRAWN |TRACE |CHK iﬂ — 1 (NOT T0O
Action MACHINE AR - - [ T/ |sSCcALE
No. Description CHK |AP’D [DATE] yrverectestoctionars o DIMENSIONS IN MM DRAWING No. CCM204

REVISIONS




NOT TO SCALE — DO NOT SCALE

25
o
X
820
CHAMFER 0.5 x 45
TOLERANCES
UNLESS OTHERWIS @ BUSH - MILD STEEL - 2 OFF
STATED +/_ 0.25
Practical TITLE CROWN CAP DRAWN [TRACE [CHK |/A —— INOT TO
A ction MACHINE AR - - [\ T/ |scaLE
No. Description CHK |AP’D [DATE] prveracticaactioners DIMENSIONS IN MM DRAWING No. CCM205

REVISIONS




NOT TO SCALE — DO NOT SCALE

305
1 x 45 1 HOLE DIA 85 THRO 1 x 49
: VDR, ) |
o
o & a 3
< A >
[am
10
6
1 HOLE DRILL 85 TAP MI0 x 15 THRO
114
TOLERANCES
UNLESS OTHERWIS @ SHAFT - MILD STEEL - 1 OFF
STATED +/_ 0.25
Prroctical TITLE  CROWN CAP DRAWN [TRACE |CHK |/ ——1 |NOT TO
Action MACHINE AR - - [ /T |scALE
No. Description CHK |AP"D[DATE] rerecscectonrs o DIMENSIONS IN MM DRAWING No, CCM206
REVISIONS




NOT TO SCALE — DO NOT SCALE

12
.QPU@
#20 . 4 —
TOLERANCES
UNLESS OTHERWIS @ STOP - MILD STEEL - 1 OFF
STATED +/_ 0.25
Proctical TITLE CROWN CAP DRAWN |TRACE |CHK iﬂ — 1 (NOT T0O
Action MACHINE AR - - [\ T/ |scaLE
No. Description CHK |AP’D [DATE] yrverectestoctionars DIMENSIONS IN MM DRAWING No. CCM207

REVISIONS




NOT TO SCALE — DO NOT SCALE

38
LA
_ 12 _,
o o o o
ad ad e} ad
< ™ o ™
< < < <
[an A /A A
Tp)
qu]
1 X
o
al
_ >
15 19
_A>|
|
_ Section AA
TOLERANCES
UNLESS OTHERWIS ° CAP HOLDER - MILD STEEL - 1 OFF
STATED +/_ 025
Practical TITLE CROWN CAP DRAWN [TRACE [CHK A —1 |INOT TO
Action MACHINE AR - - Y ] |SCALE
No. Description CHK |AP’D [DATE] yeroctcascsoners DIMENSIONS IN MM DRAWING No. CCM208
REVISIONS




4,2

DO NOT SCALE

QU] |
Au |
&
Ss
17,5 114
I~
3
S
5
7 o
Q ip]
A/ QU]
2 HOLES DIA 10.5
THRO 8,75 102
HOLDER -
TOLERANCES AHHV
UNLESS OTHERWIS MIED SIEE
STATED +/_ 0.25
Practical TITLE CROWN CAP DRAWN [TRACE [cCHK [, A& —— |NOT TO
Action MACHINE AR - - W T/ |scALE
No. Description CHK |AP’D [DATE] prveracticaactioners DIMENSIONS IN MM DRAWING No. CCM209

REVISIONS




20

NOT TO SCALE — DO NOT SCALE

250

D

|

|
N

|

CHAMFER 0.5 x 45 BOTH ENDS

2 HOLES DIA 3.0 MM THRO

3 145
TOLERANCES
UNLESS OTHERWIS a LEVER - MILD STEEL - 1 OFF
STATED +/_ 0.25
Practical TITLE CROWN CAP DRAWN [TRACE [CHK |/A —— INOT TO
A ction MACHINE AR - - [\ T/ |scaLE
No. Description CHK |AP’D [DATE] prveracticaactioners DIMENSIONS IN MM DRAWING No., CCM210

REVISIONS




NOT TO SCALE

140

RAD 20 TYP

TOLERANCES

UNLESS OTHERWIS

STATED +/_ 0.25

AHHV HANDLE - HARD wOOD - 1 OFF

No.

Description

CHK

AP’D

DATH

REVISIONS

Practical
Action

www.procticalactionorg
Infoserve@practicalaction.orguk

TITLE

CROWN CAP
MACHINE

DRAWN
AR

TRACE

CHK

©

i\

NOT TO
SCALE

DIMENSIONS IN MM

DRAWING No. CCM211




